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Instructions for the candidates :

1. Candidate must enter his / her
Question Booklet Serial No.
(10 Digits) in the OMR Answer
Sheet.

Candidates are required to give their
answers wm their own words as far
as practicable.

3. Figures in the right hand margin
tndicate full marks.

4. 15 minutes of extra time have been
allotted for the candidates to read
the questions carefully.

5. This question booklet is divided into

two sections -— Section-A and

-. 3003“{59;50]'

S
collégeduiifa:
India’s largest Student Review Platform

—



Ricl b [o70 3T FF T OMR
FTT-9TF # ﬁ;‘(f T GEl ﬁid}c-‘[? ?m"?
??#/&H#mﬁ?ﬁ@'

B |- [3003-(59/60)

Apaﬂ fmm these there are 6 Iony

are

70 objective type questions, oul of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each gquestion carries
1 mark For answering these
darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener / liquid

/ blade / nail etc. on OMR Answer

Sheet, otherwise the result will
ted invalid.

- B, there are 20 short
ISt tyP’ questions, each
Eﬂ”y!ﬂg 2 mrks uut ﬂf which any

answer type gquestions, each
carrying § marks, out of which any
3 guestions are to be answered.

Use of any electronic appliances is

strictly protubited.
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35 x1 =35

Question Nos. 1 to 70 have four options, oul of which only one is correci You have ito

mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35x1=35
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| hmensional lormula of R.C, 1x

(A W=MB(1-8in0) (B} W=MBsin%

(C] W=MB[l—cos8)

Work done 1n the deflection of a magn

]

(A}  W=MB(l-sinb) (5]

- B S
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TS | {B ]1[:}:- :. x
(A) (1000}, o (B)  (1001),

(C) (111), " D) (110),

Binary number of decimal number (8),, is

(1000), (B) (1001},

(D] (110 ),

10.

11.

(C) T,,,=0:6932% D) T,,,=0693 32

Zape GO of 32
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The relation between half-life time 7} ,, and decay constant is

A T,,,=0-693/% B) T o=

1/2

€ T,,=0-693% D) T,,,=0-693

1/2

(C) (D)

Which of the following is correct for a - particle ?

(A) electron | |B) electromagnetic radiation

(€}  hehum nucleus (D)  hydrogen nucleus

13.

(A) 28U 2%U4 dHe B)  23°%U—32%Th+ iHe

-I-l'_'

(C) 53 U->33Th+ He D) 238U 242Ths %he

Which of the following equations is correct ?

(A} 5°U-30%+ JHe (B) 238U 239Thy 4He
Q) 55°U->23Th+ IHe (D) 238y 2921, dHe

U2
' " Paoe 7 of 39
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13

©) 4B =E == D) dB =32 —

Which of the following is the correct vector form of the equation of Biot-Savart

law 7 https//www.bsebstudy.com

¥ _Ho I(di X r} Ty Hp Hidl)
(A)  dB == = (B) dB=_2 ——

(C) dB =

A
- M. I[df ::-z r] - — Mg [ r

(A E=Fg (B) E=F/jg

C) E=4Fg (D) E=gq/F

Page 8 of 32
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e t 114

surface density of charge is

Ll o= %" D) o=Q-A

C} oy D) —
1 u, 1s equal to

Ay = | M) L
B Ho

(TS R D) - __1___
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[ 117

Image formed on retina is

(A) real and erect (B)

(C)  virtual and erect (D)  virtual and inverted

"2 OX

RU o

pe is

The magnification-power of Astronomical Telesc

(A) J’;— B -7

(I3)

' 3003-159/60) | ' . Page 10 of 32
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Which of the following is the causc of formation of rainbow ?
(A) Scattering (B) Diffraction

(A)

Which of the following is not electromagnetic wave ?

(A)  Light waves (B) X-rays

(C)  Sound waves - (D}  Infrared rays

A (B) 41.14

{Cl 3? : 3 15 (} 24 ‘ 4 1#

Critical angle for transparent medium diamond is

) 48-75 B) 41-14

(). 37-31 ‘ D) 24.41°

LA/

~ Page 11 of 32
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Intensity of a magnetising field ( H) is equal to

B NN - I N . - p——— e o G TR R g R = e oEr e = 1 B - e —
e T 0T ISk sl m =17 ey e 1= B 4 H -] — el

[Trgids 173 o M4 78
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Inductive reactance for direct current is

(A)

(B) immiinity

A NIA (B)

(D)

(D)

Page 13 of 3

collegedunia:

India’s largest Student Review Platform



e A e T T T L R

collegedunia:

India’s largest Student Review Platform



(A} 3 B) 4

Colour code of carbe tance for blue colour is

- r-h ay!

e e A T 1t R SR, 8 Aoy 1B e 6 e s 8
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(B) 025¢m

L L e L o gt g T M
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A f,=f By f,=2/,

<€ f,=3/, (D) ¢ £\

(A) e = B) J« —

Which of the {ollowing relations 1s correct for intensity of scattere

A T G P
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[117 ]

(A)  e=1.602x107'°C B) e=1.602x10"!7C
(C)  e=1.602x107"°C (D) e=1.602x10719C

Which of the following is correct for ch

rge on an electron ?

(A)

(C) e=1.602x1078C (D) e=1.602x107'%C

41.

(€} $p=2-75 eV (D) #=2-85 eV

Which of the following is the work-functio

(C) ¢,=2'75 eV (D) $,=2:85 eV

42.
A) A+Z B A-z
© z+% D)z

Number of neutrons in nucleus 1s

(A) A+ Z (B)

Page 18 of 32
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Which of the following is correct for short magnet »

(A) (5)

faxtol

= (B) B (Blaxiar = 21B) cquatoriat

equatorial

= 3(B) .

(C)

(€)

Expression for the time-period of a magnet oscillating in a uniform magn

field 1s

45.

—

Page 19 o1 32
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wWhich of tl gnetic field (B, ) and

he fﬂﬁﬂ“"ﬂ!g

{Ch ne B,

B 'H tant

(<)

(D)

Page 20 of 32 -

collegedunia:

India’s largest Student Review Platform




(Al BT =8y H*ﬁ (13} B8 -
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= .I.

The value of B on the surface of the earth is

(Al 10"} tesla

10 ¥ tesla

107 tesla

10~5 tesla

Elcciromagnetic moment of current carrving coil is

oy
m ==2 (B)

—3 —»
(C) m =NIA

(B

(1)

Which of the following 1s correct for galvanometer constant ?

5]

Edovsms "3 ai™ wA
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(A)

(B)

D) 50 3
Resistance of ideal ammeter is  https:/www.bsebstudy.com

(A) (B) =zero

(€)

S.1. unit of magnetic flux is

(C) tesla (D)  joule

(A)

Lenz's law is the result of which principle of conservation ?
(A) Current (B) Momentum

e e e e e — N e T
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| 117 |

) X, =2xnfL° | (D)

Inductive reactance is

(B)

D) X, =2af%L°

Magnifying power of simple microscope 1s

J
D
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Power of lwo lenses in contact is

(A} P=P+P, . B) P=PxF

P, D) P=R{F + )

Ay 2 (B)

(D)

E

[f H, =3/2 and w,=4/3 then it M, I8

A2 B

c 2 (D) %

(C) 48° 1)

) 48 (D) 42° { nearly )

(D)

- [3003-s9/60)|
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Nature of electromagnetic waves 18

(A}  transverse (B} longitudinal

(C}  both (A) and (B) - (D)

sin [ A +; m ]
Tein AID (D)

sin A /2

(©) p:w

Ihe refractive index of material of the Pr

smA/2

in{A+0

A) K="ginA/?2 (B)

: A+ ﬁ_m
sin| —»— | sinA/2

(©) = " sinA /2 U . [A+E

(B)

Page 26 of 32
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Optical path is equal 1o

Length of path

(B)

Length of path

) Refractive

(A)  8-85%x107'“ F/m B) 8-85x1071! F/m

(C) 8-.85x10'? F/m D) 8.-85x10'! F/m

The permittivity of free space is

(A)  8-85x107* F/m B} 8-85x10"'! F/m

(C) 8-85x10' F/m (D) 8.85x10'! F/m

(GITS ‘ . - (D) L

" TR 1-T3003ssrem]

&
collegedunia:
India’s largest Student Review Platform

b .



The vector form of Coulomb's law is  https:/www.bsebstudy.com
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© C=3qw D) C

The capacity of any conductor 1s

(A) C=g-v (B C=

(A} E=5C-

©  EB=5C% ' (D) E=C.V

Page 28 of 33
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2y of a charged conductor is

(D) C=na“C

I n capacitors of equal capacity C, are connected in parallel, the equivalent

capacity will be

A} C C, (B) C eh

(C) C=nC (D) C=n%C,

70,

ff'i} 3x10% vm ! - {B) 4%x10% vm !

Dielectric strength for air is

A 3x10° Vm™ - (B)  4x108 vm ™!

collegedunia:

India’s largest Student Review Platform




_ Answer any 10 questions. Each question
10x2=20

,.

What do you mecan by end-on-positio

n of a magnet ?

sape 30 of 32
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1ge and yellow colours.

Write down the definition and S.1. unit of magnetic flux.

NOT

Write the try

What do you mean by apparent dip ?

B - 3003 isaram|
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Establish expression for the width of

"Pression for equivalent focal length of tw

the interference fringe.

Write down Gauss's theorem and prove it.

0 lenses in contact

Page 32 of 32
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